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1. When a metal wire is stretched 5. For an isotropic material the

by a load, the fractional change relationship between the elastic
in its volume (Av/v) is constants y, k and n is
proportional to (1) y-= 3ky
() _(AL/1) v Ok+y)
9kn
2 Al/I 2 =
@ | 2) @) V=G
(3) (Al/1) 3 - oKy
(4) None of these y= Ok +y)
() y-
2. Two copper wires of lengths 1 : 2 Ok -y)

and their diameters as 2 : 1

stretched by the same force, their | 6  Maxwell’s needle method can be

elongation would be in the ratio of used t(_) calculate _____ modulus
. of a wire.

(1) 2:1 (1) Young’s modulus

(2) 1:2 (2) Rigidity modulus v/

(3) 1:8V (3) Bulk modulus

@) 8:1 (4) All of the above

7. If breaking stress for steel is
7.9 x 10° dynes/cm? and density
of steel is 7.9 gm/cm?, the greatest
length of a steel wire that can
hang vertically without breaking
is

3. The modulus of elasticity for an
Ideal gas at constant temperature
18,

(1) independent of pressure v

(2) 1independent of volume

(3) proportional to /P (1) 10cm
(4) inversely proportional to~/P (2) 10m
3) 10km Vv
4. Which of the following does not (4) 10 mm
exhibit a shear ? 8.  When the temperature of water
(1) bending of abeam v/ is increased, its viscosity
(2) twisting of a wire (1) remains unchanged

(2) decreases
(3) increases
(4) increase and then decreases

(3) wringling of washed clothes

(4) curling one’s moustaches

104 (3-A)
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100 V-50 Hz
(1) 0.294 mA

(2) 2.94mA

(3) 29.4mA

(4) 294mA v
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3) 7V
4) 5V V

15. RomTITRN WA LCR
OBUT  WUZd  FIRA I

033983 FOO3RERHODTY, STRWTITD ?

(I) R=20Q, L =15H =3
C=35uF

(2) R=25Q, L =25 H a3
C=45yF

3) R=15Q, L =35 H ==
C=30uF Vv

4 R=25Q L =
C=45yF

15 H a3y

(4-A)
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Reynold’s number (k) for steady 13.
flow of fluids in cylindrical
pipes is

(1) less than 2200 v/

(2) greater than 2200

(3) equal to 2220

(4) greater than 22000

A spherical liquid drop of radius
R is divided into eight equal

droplets. If surface tension is T, 14.

If a sinusoidal voltage V =V sin wt

is applied across a capacitor ‘C’,
the average value of power
dissipated in the capacitor is

m 0 v
2) VC
(3) CV,?2
(4) 2CV,?

What is the peak voltage across

then the work done in this R, in the given circuit ?
process is, R,
MWWV
(1) 2xR2T (2) 3=R’T L2V
(3) 4nR°Tv  (4) 2nRT? §R
: R
What is the phase angle between AAA
two alternating waves of eql.lal 1) 12V
frequency when one wave attains
. : 2) 12V
maximum value and the other is
at zero value ? 3) 7V
(1) 0° (2) 45° @V
3) 90° v (4) 180°
15. Which of the following
In the given circuit, a capacitor combinations should be selected
iIs 1n series with a pure for better toning of an LCR
resistance. The current in the circuit used for communication ?
cireuit 1s () R=20Q, L =15H and
0uF 1200 C =135 F
| —vWW—s H
2) R=25Q, L =25H and
S C=45F
100V —-50 Hz
(1) 0.294 mA (3) R_— 15 Q, L =35 H and
) 2.94 mA C=30uF
(3) 29.4 mA 4 R=25Q, L=15H and
(4) 294mA V C=45pF

(5-A)
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2c 2c c—a-b
mgﬁoﬁa& DTS BTOPHID
ENplaplal
(1) a—b=0
2) a+b=0
3) at+tb+c =0 VvV
4) a=0

m@md‘j)ea’sﬁaow Gopalalon
ClewpiertJlavbwiay

(1) CH, - CH,

(2) CH,=CH-Cl
(3) CH,=CH, v
(4) CH,—CH,~ OH

S\2 BRgohod BT AohHI T
=k [CH,I] [OH]. 2.o% sSe¢ CH,I
O FORLTCHR BBEHN Iy

OH®y) oprmnad m3%o%hon
TTT e OFem [0
LVOERTOIT ?

(1) =o% asEs), Seraorzs.
(2) @R PUTE, SeNTHIS.

(3) B23odhok TITO o3
WTITHBOIN BT DY.

(4) ©OP wFe TS,

4



16.

17.

18.

19.

104

A swimmer wishes to cross a
500 m river flowing at 5 km/hr.
His speed with respect to water
1S 3 km/hr. The shortest time
taken to cross the river is

(1) 6 minutes

(2) 7.5 minutes

(3) 10 minutes /

(4) 20 minutes

The magnitude of the wvector
product of two vectors A&B
cannot be

(1) lessthan AB

(2) equal to AB

(3) greater than AB v/
(4) defined

If two forces are acting at a point,
the magnitude of each force is
2N and the magnitude of their
resultant is also 2N. The angle
between the two forces will be

(1) 0° (2) 90°
(3) 60° 4) 120°

Construct an orthogonal matrix
using the skew symmetric matrix

S

EREI A
|33l e |5
L5 5 LS 5
(4 3 -4 3
o 53 @ |33
LS 5 LS 5

20.

21.

22,

The matrix

a-b-c 2a 2a
2b b-c-a 2b
2c 2c c—a-b

1s singular if,

(1) a=b=0

(2) a+b=0

3) atb+c =0 VvV

4) a=0

Polythene is manufactured by
the polymerisation of

(1) CH,-CH,
(2) CH,=CH-ClI
(3) CH,=CH, Vv
(4) CH,-CH,- OH

The rate law of S, 2 reaction is

Rate = k [CH,I] [OH]. What will

be the effect on the rate of the
reaction if the concentration of
CH,I is doubled and that of OH

1s halved ?

(1) The rate becomes two times
faster.
(2) The rate becomes four

times faster.

No change in the reaction

3)

The rate becomes half.

4)

4
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:}oofmgmﬁa".

(1) (C,H,)Al s ZnCl,
(2) (CH,)Al s CuCl,

3) (C,H)Al 3 TiCl, v

(4) (C,H,),Al =3 AICI,

T3 8,0003), HOMEHR.

CH, ~ GH — CH, + KOH -
Br

X+KBr+H,0
30O BWeFTRTO X 020T0

(1) CH,-CH —CH,

OH
(2) CH,~CH=CH, Vv
(3)

4

CH,—CH, - CH, - OH
CH,— CH, - CH, — Br

30edT $,0H0Hd wIRRORTH
$OIPRTR

(1)
(2)

ReTE BT S 30IPDTR

23T c8-ReTE &8 8,030NTOA

3)
4)

S\2 03RO

E' oinamoz”

NH,

(8-A)

26.

217.

28.

7
(+ H/CI—A> X

308 FoPohd X & wSH

0 O/CI\/ s ©/CI
3) O/CI (4) Q/CI

CH,=CH-C = CH,=Roonsa
Hs

IUPAC &=
(1)
(2)
€)
(4)

3-20egp-2,3- wogmbent

2- aaeqsguf—lﬁ- AVC RIS

3- wegis-1,3- engmtet

2- &aeq%’g;z;@-lA—wém@eaf

@+CH3—CH2—CI—>

CH, - CH;

+ HCI
DeOT  BRIoJoDE wIRwT
Sen=gesy

(1) o7 ZEw* CaCl,
(2) ZnCl,
(3) AICl,

4) o7 B AICL,
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Zeigler — Natta catalyst is a
complex of

(1) (C,H,),Al & ZnCl,
(2) (CH,),Al & CuCl,
3) (C,H),Al & TiCl, Vv

(4) (C,Hy),Al & ACI,

Consider the reaction

CH, — G~ CH, + KOH -
Br
X +KBr+H,0

X in the above equation is

(1) CH,-CH —CH,
OH

(2) CH,-CH=CH, VvV

(3) CH,-CH,-CH,-OH
(4) CH,—-CH,-CH,-Br

Br lig NH3 NH;
+NaNH, —

The mechanism involved in the

above reaction is

(1) Addition-elimination
mechanism.

(2) Elimination-addition v/

mechanism.

(3) Sy2 mechanism

(4) E'mechanism

26.

217.

28.

9-A)

)
( + n/ A X
The product X in the above

reaction 1s

" O/CI\/(Z) ©/a
5 O/d " ©/CI

The IUPAC name of the
compound
CH2=CH—C| =CH, s,

CH,

(1) 3-methyl-2,3-butadiene
(2) 2-methyl-1,3-butadiene VvV
(3) 3-methyl-1,3-butadiene
(4) 2-methyl-1,4-butadiene

(O + cH, - CH, - ¢l —>

CH, - CH,
+ HCI

The catalyst used in the above

reaction is

(1) Anhydrous CaCl,

(2) ZnCl,

(3) AICI,

(4) Anhydrous AICI, V
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FeCl, VTR BOH YO
ENONCINEEIIEN ORI A VNI VDI STOR Y
AT, TR
(1) o-ggrdncdnuna®
(2) p-3RBRcEnURT® D
M-3ReTRELERUATT
(3) m-3pBredpen®
4) 0-3RTRNLAIT 0T
p-3ReTREnURT®

4

CH,

@ fuming HNO; -

F0edF T35,050HO X SNTHRHT

CH,
NO,
(D
NO,
NO,
CH,
o NO,
NO,
CH;
3) NOZ\©:NOZ
NO,
CH,
NO, NO,
(4) v
NO,

31.

32.

33.

34.

(10 - A)

Syl 032088 TBIcwomer wd, &F
SYERY  TRIODOD TR
(1°-mpns od, o mdrE®,
20—@336053 ©d, S me‘)‘dcsﬁ,
3°-g2eods wd, ©F modrr)

(1) 3°>2°>1° V

(2) 1°>2°>3°

3) 2°>1°>3°

(4) 1°>3°>2°

eﬂ@w@@ m@dﬁeé’bod eﬁe?&ep@
eoﬂmﬁoﬁaﬁdw@ D, TRODELL WHFAET
CDIOLTN) .

(1) KCN

(2) HCN

(3) _AgCN Vv
(4) NaCN

S\l TBsohond vem SHodos
3,090 T

(1) woedceodat
(2) @08 BRI
(3) wBo Ty RzLr
(4) wRdncedeRI® V

Bw  TFyphom 2 IReSHee-
23R’ NY QB TISRcBRICRDT
oz BBoHEHT LISFB BORBY

(I) CH,=CH-CH, - CH,

(2) CH;-CH=CH-CH; v
(3) CH,=CH-CH=CH,

(4) CH,=C=CH-CH,
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Toluene on chlorination in the
presence of FeCl, forms

(1) o-chlorotoluence

(2) p-chlorotoluene and
m-chlorotoluene

(3) m-chlorotoluene

(4) o-chlorotoluene and v
p-chlorofoluene

CH;

© fuming HNO;
> X

X in the above reaction is

CH,
NO,
(1
NO,
NO,
CH,
el
0. NO,
NO,
CH,
3) NOZ\@[NOZ
NO,
CH,
NO, NO,
4 v
NO,

31.

32.

33.

34.

(11 - A)

The order of reactivity of alkyl
halides by S, mechanism is

1° -
(2° — secondary alkyl halide,
3° — tertiary alkyl halide)
(1) 3°>2°>1° VvV
(2) 1°>2°>3°
3) 2°>1°>3°
(4) 1°>3°>2°

primary alkyl halide,

The reagent used to get alkyl
isocyanides from alkyl halides is

(1) KCN
(2) HCN
(3) AgCN v
@) NaCN

The intermediate species formed
in Sy 1 reaction is

(1) carbanion

(2) free radical

(3) stable radical

(4) carbonation V

The structure of the product
obtained from dehydrohalogenation
of 2-chlorobutane by strong base is,

(1) CH,=CH - CH, - CH,

2) CH,~CH=CH-CH, Vv
(3) CH,=CH - CH =CH,

(4) CH,=C=CH-CH,
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(I) 1<3<2<4

(2) 2<3<4<1

(B) 4<1<3<2

4) 4<2<3<1 V

W N =

Eelessplal

IINIPYNTY  Fouis odeat

(diene) o3y ?

(1) 1,3-2ntneat
(2) 1,4-Boto&e®
(3) 1,2-wnetes®
(4) 1,3-Botpbes®

38.

39.

40.

(12 - A)

NS oI™®  Roodngnied
Z,38,000H0 SRBRAHS
F,09T BRI HBORIT ?

4

FINIYNGY  3ReBeeedatBafs
TBEFHDTOH FOOINT T2,
[~

o3H ?

Fecl cl

(1) @+CI2—3> [©) +HC
Zncl cl

) @+CI2—2> [©) +HC
Cacl cl

3) @+CI2—2> (O +HCl
Nacl cl

N33R caOFF Jodprod T2 odN
& i
TINIPINTEY 0INPT®  YVTIHTH-
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The chief product obtained by
the addition of 1-mole of HCI to
1-butene is,

(1) 2-chlorobutane v
(2) 1-chlorobutane

(3) 2-chloro-1-butene
(4) 3-chloro-1-butene

What is the order reactivity of
the following compound towards
S\2 reaction ?

1. 1-bromobutane
2. 2-bromobutane
3. 1-bromo-2-methyl propane
4.  2-bromo-2-methyl propane

Choose the correct answer by
using the following codes :

() 1<3<2<4
(2) 2<3<4<1
(3) 4<1<3<2
(4) 4<2<3<1 V

Which of the
cumulated diene ?

(1) 1,3-butadiene

(2) 1,4-pentadiene

(3) 1,2-butadiene Vv
(4) 1,3-pentadiene

following is

38.

39.

40.

(13- A)

The  intermediate = benzyne
formed in a reaction can be
trapped by which of the
following compounds ?

4)

Which among the following is
the correct reaction for the
preparation of Chlorobenzene ?

(1) (O}, —> [O) +HC
@) (O}CL—2 (O +HCl
(3)[:j+CI£EEL+[::f +HCl

Nacl

4) (O}CL,—— [OF +HCl

FeC13

Zncl,

Which among the following is
an example of electrophilic
substitution reaction ?

(1) Chlorination of methane

(2) Nitration of benzene

(3) Hydrogenation of alkenes
(4) Dehydration of alcohols
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763 761
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~ 767 763
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ROJCEIE
ROBCEAE,
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53,17

YopLiat et
6 32 23

8 4 1
INIINFE 035H T BO IR ?
1 53 1 7

4

1
<_
32 2
A = {x/x 2020 Fpmocoz, 1 < x
< 40} 3% B =
Ipmocos, 21 <x <100}
A N B R 9NIZINIO oS
OO ?

(1) 40<x<100

(2) 1<x<100

(3) 21<x<40
@) eDT ooyt ©o

{X/x Qo

45.

46.

47.

48.

49.

(14-A)

n(A) = 115, n(B) = 326 =3
n(A — B) =47, smonn n (AUB) R

NSNS 0I5y FOGIPAS ?
A B

47
1) 373
3) 370
(4) Boed 3P B
2,00 TOCE oD NITY e, 30

TRy, AWYRPEND wYeeas TN T,
3e. 25 SE) R_TIRT I Be. 15

SR, Q0@ DTOINFYoHR
ODICRETITE),  YVYLLIETITRT
BeTe09T0 O, 7

(1) 62% (2) 52%

(3) 60% v (4) 40%

T2, 5/3,5/6 T Somm.09.

1) 5/3 2) 5/12
533 5/6 v 543 5/36
2,0 Re003T oD (AP)oDOS
25 &méc‘;bsmf e, SOIJAY, 400
DTENGD, TITF TR 1 SoND
TN, 1. w303 V0D =R

2D ODT SO, AINTLIO ?

1) 16,17 ) 1517 v
G) 1515 T
20, 195, 181, 172 g=38 Beze
4 "2 4 =

WEoEE  Hosl,  YAIHNED
BRI ?

1) 27"
2) 28"V

(4) B0cOT o3P Y
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42.

43.

44,
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The rational form of 2.31212,

........ is,

763 761
1) — 2) —
( ) 330 v ( ) 330

767 763
3) — 4) —=
( ) 330 ( ) 331

Which of the following is correct

for the numbers+/1.21, 7, 2.28

and +/-4

(1) Rational, Irrational, Rational,
Complex number.

(2) TIrrational Rational, Complex
number, Rational number.

(3)

(4)

Rational, Irrational, Complex,
Rational number.
Complex, Rational, Irrational,
Rational number.

the fractions l, E,E,L,l
2 8 416 32

which of the following is true ?

(1) 17

For

3)
4

If A = {x/x is an integer, 1 < x <
40} and B = {x/x is an integer, 21
<x <100},

Then which of the following true
for ANB?

(1) 40<x<100

(2) 1<x<100

(3) 21<x<40 v

(4) None of these

vV

45.

46.

47.

48.

49.

(15-A)

If n(A) = 115, n(B) = 326 and

n(A — B) = 47, which of the

following is correct for n (AUB)
A B

47
(1) 373 v
@ 165
(3) 370

(4) None of these

In an examination 30% of the
students failed in science, 25%
failed in history and 15% failed

in both, what is the pass
percentage ?

(1) 62% (2) 52%

(3) 60% vV (4) 40%
HCF of 7, 5/3, 5/6 1s

(1) 573 (2) 5/12

3) 5/6 vV (4) 5/36

The total ages of 25 students in
AP is 400 years with common
difference of 1 month only.
What would be the age of
youngest and eldest one ?

(1) 16,17 2) 15,17 v
3) 17,15 @ 17,16

Which term of the sequence 20,

191, 181, 173 ......... 1s the first
4 2 4

negative term
(1) 27"
(2) 28" v
3 20"

(4) None of these
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[ R
S = N

-2
1

}5 NERCT)
2

(1) 1

0

)

3) [0 1 -2

@ |o 1 -2

DMCRIS (variance) 16 A,

?}0832371%30 20 snc, ?303325??%} BRZD)

160 eﬁﬁzg@ TIODEI  THHI0TT

:@@é aa’% ?
(1) 50% Vv (2) 49%
3) 50.1% 4) 51%

2,000 AoHTFOTTY A, B anzy C

nY 3 deond 38 wddIne
0332035y FPNT033.
BO9R0 | 35033
Redh
HR s8R | ases
A 18 5.4
B 22.5 4.5
C 24 6

TSI e oIwe ReTDy, 260F
(dispose) oEen WO ?

(1) AV 2) B
3) C

(4) o3 B

53.

54.

55.

(16 - A)

2o Zeed 39 P, Q, R, S
QUBFNY [T dedod HOIRO
) TPIF HFUZoPH BB B
FFNT03T.

W, P |Q|R |S

RTem0 WedZ | 60 | 90 | 80 | 120

5. VU 12 [25(32 |16

03 YVIRE eleBToRo AOTING ?

(2) Q
4 S v

(1) P
3) R

22 WRRERO®  MY,BIT STIZ0D
AREF IDRTODTY Poden &R
380;%(58, A RONG
d&)do%’@%oﬁa@ YN e pIn

HOIRDODT, WIRTITOHT ?

(1) =owzo (2) F@O3

(3) wmeRos vV (4) oyme ¥y

20T FaRERONOT
NBRENNY  FTIXO
T 5,200 =3y ye

<

JooR
RoWT)
emc&aéeﬁmf

BoIRD Wowwy I 4,200. e

NBRLENNY Eeprte! (mean)

Rowdsy T 5,000 cacg@ DOOR B
3’6 e,r\)méeﬁmf I epinpien 70’093?3

SEN) ?
(1) 80%,20% .,(2) 20%, 80%
(3) 60%,40% (4) 40%, 60%
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1 2 -3
Inverseof |0 1 2 [is
0 0 1
1 2 7
(H o 1 -2
0 0 1
1 -2 7
2 |0 1 -2 Vv
0o 0 1
-1 -2 -7
3) 0o 1 =2
0 0 1
-1 =2 7]
4) 0o 1 =2
0 0 1

If variance is 16, number of
terms is 20, sum of the terms is
160, what 1is the wvalue of
coefficient of variation ?

(1) _50% v () 49%
(3) 50.1% 4) 51%

For the following data of price
behaviour of 3 shares A, B and
C in a journal,

Average
Share | Price Star_mdgrd
deviation
9]
A 18 5.4
B 22.5 4.5
C 24 6

Which share would you like to
dispose at present ?

@O A Vv 2) B
3) C (4) None

53.

54,

55.

(17-A)

For the following data of mean
and standard deviation of
monthly demand for the
products P, Q, R, S in a mall

Product P |Q|R|S

Mean 60 [ 90| 80| 120
Demand
SD 12 | 25| 32|16

For which product the demand is
consistent ?

(1) P
3) R

2) Q
4 S v

Which of the following average
is used in marketing studies in
novelty items where a manager
1s interested to know the
particular pattern of preference
of the customer ?

(1) mean (2) median
(3) mode v (4) none

The average salary of male
employees in a factory was
¥ 5,200 and average salary of
female employees is T 4,200.
The mean salary of all the
employees i1s ¥ 5,000. What is
the percentage of male and
female employees ?

(1) 80%, 20%/(2) 20%, 80%

(3) 60%,40% (4) 40%, 60%
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ax> + bx + ¢ = 0 3 Sowounsd
cos A =ZH sin A &ngd,
03P TTIROW A 1} IINIYNTD
O3Y T BOOIPTT ?

(1) a?+b?=2ac (2)b>—c?=2ab
(3) b>—a?=2ac (4)b*>+c?>=2ab

ax2+2bx+a=0,a>be:9ﬁmaﬁé%
TNCTTEIT RN %mdﬁ@ﬁa ?
(1) 2RSS DHeone
(2) vwzegE V
(3) =weondy
(4) RSP RN

2

1—2(x—1)*1=x—ﬁ
RB0eTTE3, ITATYNE oI
EeleMplasiavis

(1) =weondy

(2) o Dww

(3) T@ FSPS wonsd VvV
(4) QT YRS TPOND

202 BRI TIBITITD B, TO
Sentmsy, nosdk 15 save. nivod

Sz 300 sve. TERY .0®
notdne 2R mossmn AT,

TINTO Fo0T AT 3¢7 I, ?

(1) moedr 60 3.20e.(2) moedrt 50 &.o0e.
(3) moe3n’ 75 s.20e.(4) moedn 62 s.oxe.
2200ITE aqégﬁ DTITNF 4
Fordnsd gheen 4, 6, 15 Fdomonsd
LPORZR. T D) mgjﬁ o
QooED Bedod FoTT LRORDI ?

(1) 13wx v (2) 2dwaInsd
(3) 1moss  (4) 30 dawmnsd

61.

62.

63.

64.

(18- A)

@cﬁméeﬁ%’ :bo’%é’ elnte]
(1) BUTZ, BRCNTE QTOTIT

(2) BIeeNT 532,33
@TOHROT  SURMITTRY
SRS

(3) oPoey IERE ATHPI
(4) 2PN cIPYTH B

@c&raéeﬁ%’ OTFFISNST FTITLAND
(1) SO BoIw 3¢ TODTS,
(2) wRSTET Dedzoos

(3) EMS  Sed3 Qo &
DOBPRCLT

(4) 2N auEp VvV

BERNT  OBFIINIRY,  ILRT
T, DI

(1) o3BT 2ied B

(2) Boxm) odogndn O30TRTITIY
BEAROT)TIT ARCG

(3) B:/T 0PoINIR AT
35309 QeSO €D

(4) 2INY aump

8 IFNIYND ﬁ@cg TSN
W ATETH SRELL AT LR
%’oﬁﬁ%

(1) 2303 Qo0 e e, HTITNEL
2) Bpedeat Read

(3) edwenRe:s

(4) 2ndQaump v
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If the roots of ax?> + bx + ¢ =0
are cos A and sin A for some A,
which one of the following is
correct ?

(1) a?+b?=2ac

(2) b>—c?=2ab

(3) b>—a’=2ac v

(4) b*+c2=2ab

What is the nature of the roots of
the following equation

ax> +2bx +a=0whena>b.

(1) 2 equal roots

(2) imaginary /

(3) noroots

(4) unequal roots

For the equation 1 —2 (x — 1)! =
2
X =% _ 1> Which of the following

is correct ?

(1) no roots

(2) one root

(3) two equal roots VvV
(4) two unequal roots

By increasing the speed of his
car by 15 km per hour, a
motorist covers 300 kms an hour
less than before. What is the
original speed of the car ?

(1) 60 kmph v (2) 50 kmph
(3) 75kmph  (4) 62 kmph

Four bells toll at intervals
4, 6, 15 seconds respectively,
beginning together. After what
interval of time will they again
toll together ?

(1) 1 minute v (2) 2 minutes
(3) 1 hour (4) 30 minutes

61.

62.

63.

64.

(19 - A)

Industrial safety means
(1) Not to go for work.

(2) Protection of workers from
the danger of Industrial
Accident.

(3) No handling of machine.
(4) None of the above.

Reasons for Industrial Accidents

(1) Poor leadership from the
top.

(2) Inadequate supervision

(3) Careless attitude on EMS

(4) Allofthese Vv

The safety measures to prevent
Industrial Accidents
(1) Fencing of machinery.

(2) Prohibition of employment
of young persons on certain
machine.

(3) Providing enclosures to the
revolving machines.

(4) All of these. v/

The following are the external
bodies which are available to
handle major accidents :

(1) Fire authorities
(2) Police service
(3) Health service
(4) All the above Vv

4
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B IINTY (ARTDV) eﬁ@meﬁémss
TIRRONITNED

(1) oegpe wRremodBees®

(2) ©Bpedos»

3) aﬁ‘ﬁ@eua@n’q S

4) anv agse v/

=32, Personality S@®y) Nes® 3w
IER0E  ABIOIPNS.
‘persona’ HoxI
(1) =Pz
(3) =g

“33, HOS THH HFH RIS
DR THUT eR 206S WFE

(1) 23eBonss wikr ey

(2) Fwox v

(3) Gadecs

(4) Inecypz

Persona

2) Spwme vV
4) =S

“8oBA0D PIRE TOPEAFIODTY
DpROWT  ©@0BVF DY w0E,
WOBNYRY,  ATETH 00BN
ROTTRR B3 005"
@_SwoT v (2) MOB

(3) LPG (4) MIS

TOLD, TTINY 20T FIT TR

(1) WATT (2) SWOT V
(3) GATT @ CATT

X508, 23033080 B30IPTHIT.
Elnie] EDIeRA 2303R0O3) 2,00

(1) e=33 (2) =03
(3) Twre vV (4) 38

71.

72,

73.

74.

75.

(20 - A)

U, wISwoBR  HeHodHaEy,
FLO3NTH T 3,080 %as%
:m&)zsmdd%”

(1) 22 0d0d B33 vV
(2) gpods dux

(3) QoPBeT =P OD
(4) 2N TYTR ¥

Rep-AReeD, ReR-ney, w03y Reeen-
ARCCONED ART TTNYINE

(1) ez ATR08

(2) et 2508V

(3) =Rae ATR08

(4) 2INFE oy TRe ¥

R SRS Ios) mé'&a%@a,
RODTD esﬁs?smﬁ 23ed

(1) o

(2) @DT®

(3) =0

(4) «IND auzgp vV

CNSDECIEIOMT Y
SONTIPTONNY
WV LTOTWIOSTR)

(1) negm==RD
(2) SFoZeZTNRFH I

(3) =odes

(4) 2INFE oSy Te ¥

RoFCBNG 9P
HodoDIYN

AOEMRR, wgodmd Wy T
SREE BoSBID)

(1) oeenau

(2) BB

(3) BIendT

(4) ©oFTwds vV
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The following are the toxic
chemicals :

(1) Methyl isocyanate

(2) Ammonia

(3) Hydrogen sulphide

(4) All the above

Personality 1s derived from
Greek word ‘persona’ means

(1) Media (2) Mask VvV
(3) Person (@) Human

“Concious knowledge of one’s
own character & feelings” means
(1) Awareness of others

(2) Self-awareness Vv

(3) Perception

(4) Attitude

“Is a process where the
management team identifies the
internal and external factors that
will affect the company’s future
performance.”

() SWOT VvV (2) MOB

(3) LPG (4) MIS

An Acronym made up of 4
words is

(1) WATT  (2) SWOT Vv
(3) GATT (&) CATT

Positive thinking is strength,
where as Negative thinking is a,

(1) opportunity
(2) threat

(3) weakness vV
(4) strength

71.

72,

73.

74.

75.

(21 - A)

“Spending time with your people
is much more important than”
(1) Staff meeting v/

(2) Routine work

(3) Regular appraisal

(4) None

Win-Lose, Win-Win & Lose-
Lose are terms of

(1) Fame theory

(2) Game theory /

(3) Maslows theory

(4) None

Communication is needed to

exchange the

(1) 1dea

(2) opinions

(3) information

(4) All of these

Translation of information into
series of symbols or Gestures is
(1) Encoding ./

(2) Decoding

(3) Message

(4) None

The communication which does
good and bad to the
organisations are

(1) up ward

(2) down ward

(3) formal

(4) informal
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SNl o3RexR030T3

(1) soBod  II@T DY
WOIT  TURSRy, RO
o300

%0 BrenSony
oBobay, TTOPHT =g,
SR ATBEATTHIS
3FFT oimerdniss FoBVoD
DORG D5y, SRtORI
B0 AREEATYO SOBAOH

2)

3)

4

20008  WOJoNT, IO
=02eORT3.
FTIODTTNTY —-’o-;goja VOIJ)
POZed  sH3y  aoaurhooi
WTRNATIS 20TEIR0DE
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SoeZ LRTH3R
(1) & JFS® Fees® Doots® (FIES
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3B) & I[predes® Seeninee

(FORRECTEEF® LR0eIT)
(4) BoROD WZCS
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TRBIITRZ

(1) AR, SpeL3BeRIS,
835058%39, Do,
XVOIRXIS
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SR, DERTW, XA
RART?, BWOWF, edease)es,
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4

4

v

79.

80.

81.

(22 - A)

o333 WIBYRY B NG 03N
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SSANe, 22400, YOI MHOMYRY
BRET DEIIND.
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A Business Plan is

(1) A plan showing the
business and the
performance of the
company.

(2) Business plans 1s only
prepared before starting a
company.

(3) Business plans show the
future direction of
company.

(4) Business plans review the
past history of a company.

A written declaration of the
organization’s core purpose and
focus that remains unchanged
over time is known as the

(1) The Vision Statement /
(2) The Mission Statement
(3) The Corporate Logo

(4) The objective of the
Organization

S.M.A.R.T Goals is an acronym

for

(1) Special, Motivational,
Accurate, Reliable, Total.

(2) Soft, Meaningful, Absolute,
Reasonable, Tenable.

a Vv

(3) Specific, Measurable,
Achievable, Relevant,
Time-bound.

(4) Social, Moral, Artistic,

Risky, Terminal.

79.

80.

81.

(23 - A)

Which framework constitutes the
following-Strategy,  Structure,
Skills, Systems, Staff, Style to

make Super-ordinate goals ?
(1) McKinsey 7S Framework
(2) 7 Sigma Model
(3) The B.C.G Matrix
(4) Ansoff Matrix

Every promoter, employee and
director of every company shall
disclose to the company the
number of such securities
acquired or disposed of within
two trading days of such

transaction if the value is

(1) Over Rupees One Crore

(2) Over Rupees Fifty Lakhs
(3) Over Rupees Ten Lakhs v/
(4) Over Rupees One Lakh

The Partnership Act states this
about which partner ?

This partner has the right to take
their part of the profit but does
not have to be a part of any
liability

(1) Limited Liability Partner
(2) A Minor

(3) A Sleeping Partner

(4) A Silent Partner
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Which New Act for Companies

was introduced in 2013 ?

(1) Competition Commission
of India.

(2) Monopolistic and Restrictive
Trade Practices.

(3) The Companies Act

(4) Foreign Exchange Regulation

Act

Which Compliance Act do all
these rules fall under ‘make it
unlawful for a U.S. person, and
certain  foreign  issuers  of
securities, to make a payment to
a foreign official for the purpose
of obtaining or retaining
business for or with, or directing
business to, any person’.

(1) Foreign Exchange
Regulation Act
(2) Foreign Exchange

Management Act
(3) Monopolistic and
Restrictive Trade Practices
(4) Foreign Corrupt Practices

Act
Registered firm’s ‘birth
certificate’ showing its legal

name and date of incorporation
is called

(1) Certification of Inspection

(2) Certification of Incorporation v/

(3) Credit of Inspection
(4) Letter of Credit

85.

86.

87.

(25-A)

Importer Exporter Code. Import
Export  (IE)

registration required for persons

Code is a

importing or exporting goods

and services from India. Which

Agency gives this ?

(1) Indian Institute of Foreign
Trade

(2) State Trading Corporation

(3) Directorate  General of

Foreign Trade

(4) Federation of Indian Export

Organizations

The Factories Act, 1948 came
into effect from

(1) 1% day of April, 1949 v/
(2) 1% day of August, 1948
(3) 1% day of April, 1948

(4) 1% day of August, 1949

As defined
Disputes Act,

in the Industrial
1947 “Average
pay” in the case of daily paid
workman, is _ full working
days

(1) 15

@ 12 v

(3) 28

4) 30
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3) 103 v @

isz;'ma%ﬁ%fa (Qﬂ@%% TDTY A0D0ZH)

Fo0ONT, 1951 To3 BN
goodns  Imod  WOmemN
BRoDeTING.

(1 12 Q) 7

3) 9 @ 5 Vv

MSMED 2006 Fo00B00N03, a3
BedTeIFond  BpENTHT ?}fa%;é
FITTO LUBFTEINY eSS TR T

20 DY BRHETOIN TR.

§ ne 87 L.9mes.
(1) 2503 @ 1598

50 e)'u;

TOLNTIOT  FToONT3
2T BRTHZEY
03T 399003,

1932

ke

(1) 3Beomrd®s Z@eansd (Union

Territories)

(2) 30, #HFY F93,T (Jammu & v

Kashmir)

(3) oafeof, 33O  (NCR,
Delhi)
4) é&mdé m&éﬁ% (North Eastern

States)

91.

92.

93.

(26 - A)

QIOTBT VWD RoWS I€T 0B
BHRRT QeS0D03 AN
TOFEING WOIT@Em 303N
FoHorndS  THOOHE
NBONTIN VWS T 20T
BRAT WRTIBNT.
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88.

89.

90.
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Industries  (Development &
Regulation) Act, 1951 compels
compulsory licensing for

category of industries.
(1) 12

2) 7

3) 9

4 5 Vv

As per the MSMED Act 2006,
Micro Enterprise engaged in
shall
investment in equipments less

than ¥

services have the

(1) 25 lakhs
(2) 15 lakhs
(3) 10lakhs
(4) 50 lakhs

The 1932,

extends to the whole of India

Partnership  Act,

except
(1) Union Territories

(2) Jammu & Kashmir /

(3) NCR, Delhi

(4) North Eastern States

91.

92.

93.

(27 - A)

As per the “Consolidated FDI
Policy” of Government of India,
FDI up to ,

automatic route is permitted for

under the

manufacturing  of  medical

devices.

(1) 100% v
2) 51%

(3) 50%

4) 49%

As per the Karnataka Industries
(facilitation) (Amendment) Act,
2013, the State

Empowered Committee is under

Level

the chairmanship of
(1) Chief Minister
(2) Chief Secretary

(3) Industries Minister
(4) Principal

Commerce and Industries

Secretary  of

Sections 11 to 20 under the
Factories Act, 1948 deal with

(1) Safety

(2) Welfare

(3) Working hours
(4) Health
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Cession of work by a body of
persons employed in any
industry is

(1) Lay off

(2) Strike vV

(3) Lock out

(4) Closure

Procedure for fixing and revising
minimum wages 1is provided
under

(1) Section 5 of Minimum

Wages Act, 1943

(2) Section 7 of Minimum
Wages Act, 1948

(3) Section 11 of Minimum
Wages Act, 1948

(4) Section 12 of Minimum
Wages Act, 1948

Goods displayed in a shop with a
price tag is

(1) An offer

(2) An invitation to offer /
(3) A counter offer

(4) A promise

The term “Set of Bills’ is defined
in the Negotiable Instrument
Act, 1881 under

(1) Section 132
(2) Section 9

(3) Section 12

(4) Section 133

98.

99.

100.

(29 - A)

‘Buyer’ under Section 2(1) of
Sale of Goods Act 1930 mean

(1) A person who buys goods

(2) A person who agrees to buy
goods

(3) A person who buys or

agrees to buy goods

(4) A person who does not
agree to buy goods

Trade Marks Act, 1999 (in force
since 15™ September, 2003) has

replaced the earlier

(1) Trade &  Merchandise
Marks Act, 1958

(2) Indian Merchandise Act,
1889

(3) Trade mark Act, 1940
(4) Specific Relief Act, 1887

What is the expansion for VAT ?
(1) Value Added Tax Vv

(2) Valuable Added Tax
(3) Visual Aid Tax
(4) Variable Added Tax
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